AN 4 9 N
(B : 3AM. %. AR
Y g ® K smgE | emisE | wewm | omEE
TEIHRERE (SCRARIRRY) 9,670,855 | 9,959,335 288, 480 3.0
(&t % E K & K #®H ) (9, 463, 830) (9, 778, 480) (314, 650) 3.3)
& ® 3 = & = 0.346 640 | 9,952,033 605, 303 6.5
(5 b5 FE KK I AR B H) (8, 806, 307) 9,119, 474) (313, 167) (3.6)
(5 B N A iR EKEH) (207,017) (180, 855) (A26,162) (A12.6)
g8 ® 3 == B & 7,730,759 | 8,504,563 773, 804 10.0
(5 b EK X REEBE£) ® (4,711, 158) (5, 382, 994) (671, 836) (14.3)
gl( 3 5B T @& &) (513, 727) 533,479 (19, 752) 3.8)
(S BHFFHHRERUVESE) (1,592, 579) (1, 645, 7187) (53, 208) 3.3)
(5 5 % 8 B B £ ) (627, 097) 592.463)| (Aa34.630)|  (A5.5)
= (5 b5 X $h 5 & 8B A 3 ) (234, 211) (47,994)] (A186,217) (AT9.5)
(SBbEFEBEERA(ARA) #) (A149,917) (A224, 471) (74, 554) (—)
® ® & B W i 776, 508 944, 541 167,943 21.6
G| (PBHERUES&RA) (553, 694) 655,807) (102, 203) (18.5)
(5 5 5 @ F % = # %) (268, 273) (335,206)|  (67,023) (25.0)
® ® ®# B & H 118, 478 212, 686 04, 208 79.5
| (3B AME S F WA (18, 683) 69,426)|  (50,743)|  (271.6)
(5 &b & (i 5F % F @ £ ) (41,618) (31, 890) (A9, 728) (A23.4)
%= % B R U — B & B B 1,304,367 | 1.431.896 37,529 2.7
(53LRRBIZFIFRIZLERV—BREERE) (1,301, 874) (1,329.517) (27, 643) 2.1
z 0 B & = B @ 11,369 19,102 7,733 68.0
= = 7l = 890, 979 766.516 | A124.463 | AT14.0
(B B 3 BOM & ) 310,725  (114.390)| (A196.335)| (A63.2)
(& % & B @8 ® #% ) (658, 113) (731,850)| (73, 737) (11.2)
o Y Al F = 34, 657 31, 004 A3, 653 AN10.5
?!g Y Al 8 5% 56, 554 142,068 85,514 151.2
S|4 Al 8 = A21,897 A111,064 A89, 167 —
CEEEE 869, 075 655 446 | A213.629 | A24.6
& A i & & it 198, 318 153, 893 A44, 425 AN22.4
2 # #t I % 670, 753 501,543 | A169.210 | A25.2
e = EE 59.3 64.9
Ett = £ 7% g 32.9 32.6
= (3 v 4 v K Lr ¥ #F 92.2 97.5
ERAEY (4> hLFEY) 2.35 2.80
~ & = I = 10,165, 237 |10, 941, 691 776, 454 7.6
5| (2 0 i & B I &) (41, 974) (45, 088) 3. 114) (7.4)
o % B [ 9,274 247 | 10,175,163 900, 916 9.7
Yl F O O B F E OB ) (30, 727) (26, 141) (A4, 586) (A14.9)
(1 - BF. %. AR
. OB | smmmk | emeemx | wemm | omams
b7 & = 5% =) 325, 643 317,490 A8, 153 A2.5
52 EN & il 5% =) 40, 758 41,146 388 1.0
= £ # & il 5% =) 154, 842 152, 586 A2, 256 A1.5
it & = 5% =) 80, 851 77,082 A3, 769 A4, T
*1 EBRIRARRE =T ZERRKRE + 2B ERRKRE — HEEKRERBRE <BEMEE29%t 5>

* ERXIRIRE=TZEKRRIRE+ZHERRIKRE - ENRBRIZE
*3 RIRFZEIBRBRELEEET,

4 RIRSIZFIB=RIFSIZRE—RIZFIZEA-—RIRFIZIHRIERERV - REBEE + ZTOMRX

ZTOMRXITEBERETHEEERERFCRIBEARELEE,
*b AEEMRMANB—EEERNS-EEERER
*6 BEER= (ERILRIREHEFREE) - ERIRARER

] BREER= (FFEHERUVEEE+HRESIZICRIERXRERUV-RERE) - ERIRA R

AR TRESF202348A31H. ZETHRIT2024F6A14BIZBELTVETS,



